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DIRECTORATE OF GOVERNMENT EXAMINATION CHENNAI-6
HIGHER SECONDARY (FIRST YEAR) EXAMINATION - MARCH-2024
CHEMISTRY ANSWERS KEY

Note: 1. Answers written only In BLACK or BLUE should be evaluated.
2. Choose the most sultable answer PART-I from the glven option
alternatives and write the option code and the corresponding answer.

ovt:Official-Ke

A\ [-1
Q.No | Option Answer Q.No | Optlon Answer \‘ ’\ { |
rich in dissolved .-‘ \

1. | ® |-No, 1| @ |geygen 1 y O : |

2. (c) |free radical 2. (a) |6.022x10% 1 ” /) |

3. (a) |4l+2 3. (d) | FedFe(CN)els 1 - -

4, () |=0 q, (@) | Square pyramidal 1

rich in dissolved o

5. (@ oxygen 5. (a) |31.1°C 1

6. (a) |6.022x10% 6. (b) | Castner's process 1

7. (a) |31.1°C 7. (b) |-NO, [ a1

8. () .|Freon-112 8. [ @ [ |} 1

9. (d) .| FedFe(CN)el 9. (c) |Ethanol + W&

10. (c) [Ethanol + Water 10. (@) |al+2

Assertion is true .

1. (@) and Reason is false 1. (c) |lree radical 1

12 (b) | Castner's process 12, (c) |Freon-112 1

13. @ |-1 13. | (¢) [=0 1

1 (a) | Square pyramidal 14 (a 0, 1

(@) N

n
Answer any SIX Questions. Question No.24 Is compulsory.  6x2=12

Q.No ANSWER Marks
16 | Electro negativity - Carrect Definition 2 . .
17 [ Equivalent Mass - Corrocl Delinf I c I a n swe r ey
(or) 2
lai

-lllpugg
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DIRECTORATE OF GOVERNMENT EXAMINATION CHENNAI-6
HIGHER SECONDARY (FIRST YEAR) EXAMINATION - MARCH-2024
CHEMISTRY ANSWERS KEY

Note: 1. Answers written only in BLACK or BLUE should be evaluated.
2. Choose the most suitable answer PART-I from the given option
alternatives and write the option code and the corresponding answer.

PART -1 Maximum Marks :'FO\
Answer All the Questions. 15x1=15 ( Z ;
TYPE A TYPEB 'C?“
Mark
Q.No | Option Answer Q.No | Option Answer
rich in diss‘u@
(b) |[-NO; 1. (a) oxygen fe. 4 1
9. (c) |free radical 2. 6.022x10%" 1
3. (@) |4l+2 3. S(CN)els 1
4 (c) |=0 a. juare) 1
rich in dissolved
5 @ | oeen 5. 1
6 (a) |[6.022x10% 6. (b) . “T*Castner's process 1
7 2 (@) |31.1°C 7. Al -NO, 1
8 (c) .|Freon-112 B. |wld) |[-1 1
9. (d) | FesFe(CN)gls 9. (c) |Ethanol + Water 1
10. | (c) |Ethanol+Water 10y (@) |at+2 1
Assertion is true .
11. (a) and Roason Mealso Q (c) |free radical 1
12. (b) | Castner's process "“%{i‘. (c) |Freon-112 1
13. d |1 ;E_}ls. () |=0 1
14 (a) |Square pyrarnida_,_‘; 14 (a) | CO+H; 1
15. \Q . Assertion is true
2 (a) {CQsH, 15 (@ | and Reason s false | !
‘)
\?é:g Part - II
Answer any SIX Questio uestion No.24 is compulsory.  6x2=12
Q.No S ANSWER Marks
16 | Electro négﬁi@hy - Correct Definition 2
17 Equiv er@ss - Correct Definition
?\ (OT) - 2
s w olar mass
Equwa]en o Equivalence factor
1 | Pa go
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2
18 | caco, = Ca0+CO;
19 | Dalton's law of partial pressureé \
Correct Statement (or) Proai- P1+ P2+Pa
20 |a)BF;-Sp’ b) CH4 — SP“d axvi
c) PCls - Sp’d ~ d)SFe- Sp
21 | Green house effect — Correct Definition 2

H CI
C H

H
+3C11 M ;

a Y i
benzene C
| B@
! (or)
_ Benzene + chlorine — Benzene@hlonde (or) BHC
j (without UV or sunli 12

Explanatlon .....
23 | Homologous series — definition

N
o>
22 |Benzene to BHC §
{
N

One example (or) general formL@----> 1

o
No.of moles of solute

massofthe:g@in kg |
/80 é) %

24 Molality (m) =

| 2
™~
Part - llI
Answer Any Six Quegtions. Question No.33 is compulsor
“Q.l y. 6x3=18
Q.No \Q ANSWER Mark
o o P .
25. | Any orbtta@m'on T e ——e =
3P, 3,11 1
4d > T n—4 [=2 1
26. |Uses o! hydrogen — any three m__ 3
27. | Periodic trend of lonisation energy T
IE decreases down a group (or top to bottom 1%
IE increases along a period (or left to rig jht) 1%
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28. | Hag + Iy = 2HI,

_ [mp?
Ke= [H3]11;) 1

= /"i . - 4x?
CEE W ket

(a-x)(b-x)
If Aﬂg =0,s0 'KC=K9

29. | Pibond - Correct definition

N
&
pictorial representation ----- >2 (§ 3
<

| Correct example  ----- > 1
__30. Hess's law — correct definition (or) AH, = AH, + AH, 3
31. | Nucleophile and electrophile — any three differences ( ;’ 3
' 32. | Correct SN? Mechanism -
. Correct explanation only ---—-> 2 Q, 3
3. A |CHz - Br(on 1,2 —dibromo ethane \Q 1
CH
| owes (S
i B) CH; = CH-Br (or) Vinyl bromide (6r) Bromo ethene 1
; C) CH=CH (or) Acetylene (or) ethyne ", 1
O“v
Pan.-il\
Answer All the Questions : 5x5=25
Q.No Ansvﬁ Marks
34. | (i). Tabular column with simple ra r Three elements 2
(a) Simple ratio for Two eleme -—-> 1
Empirical formula — CH;QQ 1
| (ii). Spin Quantum Numb‘c) S
E Statement (or) S= or-Y% 2
l__ (OR)
- (b) | Similarities between@lium and Aluminium s
. Any five similarities
35 [ (i) Interstitial hyd‘[id@
- (@ | Correct definition. ™, 2
Any one exambb 1 5
(ii) Electronic ﬂq?figuration: 1

|

:i Lanthaniq§7 -14 5j0-1 g2 1
| v 4 - 0-2 2

| Actinides 0-14 6d 7s

| ! (OR)

' 35(b) Characleristics of Internal Ener
| 1) Extensive property

! 2) State function rolis
|l 3) AU = u,- U; (o) Uz- Vi x

|

4) For cyclic process AU =0
5) If U!‘(Uj ) Au= —ve
6) Ifu,>u; ,aUu= +ve

(Any Five characters)

3|Page
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36 | (i) Raoult's law — Correct statement 2
(a) (or) PaaXa (or) Pa=K Xa
ii) Volume correction
Excluded volume for two molecules =8 Vm . a‘t 5
Excluded volume for single molecules = 4 Vm “
(or) Excluded volume for ‘n” molecules = nb 'Q. 1
Videa[ = V'nb Q 1
(OR)
(b) | Vant Hoff equation :
AG® = —RT InK () 1
AG® = AH® —TAS® 1
—AH° AS"
—RT InK = AH® — TAS° (or) Ink= : + "F 1
d(ink) _ AH® \Q 4 2
dT ~ RT? 0
g ke _ AH® [T-T, ] /Q\ 3
° %, = 2.303R Tz T
37 Formanon of N, Molecule o‘
(a) < MO energy diagram g 2
«+ Electronic configuration of N, mge 1
<+ Bond order =3 1
< No unpaired electron (or) dhqignehc 1 5
b) |IUPAC Name O
i) A) Propanoic acid 1
B) 3- Pentanone or pen one 1
C) N,N — dimethyl Pro -amine 1
" o 5
ii) B — elimination
Correct equatio 2
j t condition (alc-KOH) 1%
correct explan 1
38(a) | Preparation Q@ne : Acetylene - benzene
i) A) C t equation with condition 1%
ithout temperature
Correct explanation  ----- >1
@henol benzene 1% y
\ Correcl equation
Correct explanation  -—---> 1
i)  Usesof DDT - Any two uses 2
(OR)
(b) | Formation of acid rain 2 —
Effects of acid rain 3 5
- (Any Three effects)
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